Untitled.notebook January 13, 2014

ANSWERS

0 nCd U BY) =7
e)n(lh =15

AB)=|
3,5,7,11}, B= {2, 4,6, 8, 10}
(B =5, n(d4 A B)= 1

ni using acéllphnne, and let £ represent using a land line:
152

> than the number of people surveyed, so 56 people use both.
diagram and wrote 20 where the sets for canoeing and swimming
11 outside those sets, for campers who did not want to do either
acmpcm wanted to cance, then there were 28 — 20 or & campers
0 canoe. Since 45 campers wanted to swim, then there were

'onlywantadtomm.laddedthcnumbcrsmtheﬁmr it
' O+250r64campematthecamp
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G |
marks the first day of summer and occurs on the day with
inique’s statement is true.

mmer solstice occurs today, then today is the longest day of
mer solstice oceurs on the longest day of the year, the converse is

statement: Today is the longest day of the year if and only if the
ce occurs today.

is false. The integer could be zera. Zero is neither negative nor

: If an integer is positive, then it is not negative. This statement is true,
an integer is negative, then it is not positive. This statement is true.
: If an integer is not positive, then it is negative.
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¢ shows the possible wins and losses of one of the teams.
te games that would not actually be plaved, since one of the
already won or lost two games. That means there are only six

Tlsh

| Game 3 | Outcomes
W 1 outcome
e
w 1 outcome
L 1 outcome
W 1 outcome
L 1 outcome
W 1 outcome
K

LW or LWW =¢ wJl L

there are two choices for each part of the sandwich.
. exactly one item from each of set of choices,
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s; there are two choices for each part of the sandwich. 1
vich has exactly one item from each of set of choices. '

: there are six choices for each digit and repetition is

starting the password with a 0 was allowed.

s; there are 13 cards in each suit and the sets are disjoint, I made

gements. | made no assumptions,

Bt pizzas. T assumed that he would choose exactly three
would be different.

in part a) but it does matter in part b). so part a} involves
part b) involves permutations, ; e
120 times smaller than the answer to part b). This is
selections from part b) must be divided by 5!'to
ame, because order does not matter.
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B | | ¥
g permutations [ {7
o .|-a.~ Principle.) I-—-—4—TO—2|CI—2;J
20-40-40-40
4080130
4=J-lr 240

150 ways
means two, three, or four girls:
)2)=10-15+5-20+1-15 or 265 commitiees

‘be on the committee, there are nine people lefi for the
tions:
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e T and K as required, this can happen only one way for each position.
2 seven letters can then be arranged in between, keeping in mind that
'leu;ars: two A’s, two 8's, and two 0s:
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